§7-5 Parts of Similar Triangles

Proportional Perimeters Theorem

Ifjtwo triangles are similar; then the
lperimeters are proportionalko the measures
Iof corresponding sides.
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§7-5 Parts of Similar Triangles

Example
If ALMN~AQRS,QR = 40,RS = 41,5Q =
9,and LM = 9, find the perimeter of ALMN.

Draw and label a picture!
R

M
40 41
A A,

Q
9
Use the Proportional Perimeters Theorem to set up a
proportion!
9 40 + 41 40 90 40

9 9

40(P, =81 0
0(Parun) = 810 Pavn = —o Pawun =20

§7-5 Parts of Similar Triangles

Theorem
If}:wo triangles are similar, then the measures of
Ithe corresponding altitudes are proportional to
khe measures of the corresponding sides.
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AABC~ADEF




§7-5 Parts of Similar Triangles

Example
In the figure, AABC~ADEF. If BG is an
altitude of AABC,and EH is an altitude of

ADEF, then complete the following.
B
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BG 4B BG _BC
EH ~ DE EH
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§7-5 Parts of Similar Triangles

Theorem
If lwo triangles are similar, then the measures of the
orresponding angle bisectors are proportional to the
lneasures of the corresponding sides.
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AABC~ADEF

§7-5 Parts of Similar Triangles

Proof of the theorem. G
Given: ARTS~AEGF &.
TA is an angle bisector of ZRTS 5

GB is an angle bisector of ZEGF

A
Prove:% = g
|.ARTS~AEGF 1. Given
2. LRTS = LEGF 2.2 As are ~ < corr. £s are = and corr.
ZR = LE sides are proportional (Def. ~ As)

l_ﬂ is an angle bisector of ZRTS
GB is an angle bisector of ZEGF

4. LRTA = LATS; LEGB = LBGF 4. Def. angle bisectors

5.msRTA = mzATS; m£EGB = msBGF  5.Def. = £s
m«RTS = meEGF

6.mLRTA + msATS = m4RTS; 6. £ Add. Post.
msEGB + m£BGF = msEGF; Continued on board

3.Given
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Theorem
If ]:wo triangles are similar then the measures of
thelcorresponding medians are proportional to
the lneasures of the corresponding sides.
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§7-5 Parts of Similar Triangles

Example
Find the value of x.

AN

Since the triangles are similar (AA ~ Post.) we

know that the medians are proportional to the
sides.

16
12

4 axar)
3 Sx=15

20
Therefore,? =

=8




